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Note: i) Question no. 1 is compulsoQ'\ S ¥ - =
ii) Attempt any three from (én11|n|ng_ Q O i
iii) Assume nccessary data*~ 3 N N A ~ N
C\Q '\\ “';\‘ :§*\ o ::\
1 (a) Explain the Lcarmgg Agcnt wlth suitable't h)ock dmgmﬁx \\T‘ ! ﬁ::s
= ‘ ~)
(b) Give dlffercnc@between le?omlcd Sc‘m‘:h and Unmformcd search Y NS o
Algonthmi -- \(5 \.\‘x\ A’“.' \\fx‘v & 3
(c) Give PEAS and statc-spacc dcscnptwn for “Automobllt:'Dnvcr Agent 5
(d) Explnm dlffccht\quanttﬁers.wnh examplc \«f—‘” gl _.“ 5
~ ~ 4-\ i\ A "‘ ’ -‘“
O 2 (a) Explin vanous propemés of task cm?uonmentwnth suxtablc exampleS" 10
r~ \ \ "
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(b) OWhat is Game Playing Algonthn‘?’ Draw agame tree for Tlc-Tac«T oe _40
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(a) Illustmte fon{ard-chammg‘nnd bnck\\?ard (.hmmng algomhm wnh suntab]e 10
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(b) ConS|der problem of ch:mgmg a ﬂat tire. The goal is to havc a good spare 10
tire pxopcrly mountcd on to. lhe car’s axle ‘where the initial state has a flat
tire on the axleand a good’sparc tire in the trunk.: Give the ADL

descnpuonfor the problem and nlso discuss the. solution &
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5 (a) Explam Pamal-ordcrplanmnb wnh smmble examplc - 10
S =
~(b) Define ¢ Belief thwork Dcanbe the stcps of constructmg belief network 10
>3 \Vlﬂ1 an examﬁE _"-? \;\" Y
R 6 = Wnte shqn notes on nny Two of followmg
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N.B.: (1) Question No 1 is Compulsory * . ~ & &3
' (2) Attempt any three questions out. ol‘thc rcmammg ﬁvc( o
(3) All questions carry. cqu-nl marks S &7 - < 5
3 \\ .\“v ‘r‘,;'v F‘—" .\“‘- .;‘.F
Ql. Attempt any FOUR Qucshons «:‘ ' P?:: \W ,"A-,‘:'\ -’?:" 20 k:‘
a) Explain the conccpt of frequcn;:.? reuse wuh clustermg. . T A -
b) Compare LTE and LTE advanced. e "
¢) Whatis Hldden and Exposed station problem” . R s A\
d) What are the roles of EIR and HLR ¢ntities in a | GSM network? s =~ o
¢) Discuss abbut the mob:le scrvu:es and data serwccs in GSM > ' O X
\\ 1‘,:\’ - . '\, " P r-:—,‘\ . -\\,"v _‘-’-\ v
N _J\’ f,’ o " e e Lo
. ’\' -\1"" S ‘\' \—‘ o )
Q2a) What‘ﬁo you mean by Self Orgamzmg Networks Exp!ain the archltecture of SON =210
Q2 b) Whal isa nec?l of Micro Mobnhty" Exﬁlmn Ccllulur ﬂ’ in detall N _;F': P [ __
& £ o & & V&
Q'j 2) What are the dlﬂ‘ercnt Handover' mechamsm in GSM? Explam each handover mechamsm 10
o & o~ & o - 2
> in bnef R > ~ Pas o’ A o
Rt A-,. \...: S S S
Q3 b)J-prlam the protocol archltecmre of IEEE 802.11 w diagram:~" Yy > 10
) , ! AL’ oSt A - & -
’\‘r n\ ! ) "". o) ™~ ._ : -
Q4 a) Explam the GPRS archltecture explaln each block in detall :;-’: o 10
> Q4 b) Exg]am snoo;ung TCP and moblle TCP: wuh their ments and dements aoat 10
—— ] ‘\ b \"‘ - ...:
F F & §F 5 & 53
’,.’\’: \ ‘-\ / Aﬂ . “ N \}-—,‘. . &...
& - QSNa) What i ,5 sprcad spcctrum" Why is* 1t used'7 Explam any onc of the sprcad spectrum 10
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= Q5b) EXpIam Mobile Termmated Call and Moblle Ongmated Call. .= 10
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il 8 Q6 a) Explamthe mechamsm for IP packet dehvenf using mobnle 1P. 10
) Q6 b) Dlscuss in detall about WI-P! Securlty protocol :“ 10
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N.B: (1) Question No. 1 is compulsory. ,'j\ ,\""' N ' S .-:;/ N
(2) Attempt any three questions out of rcmanmpg five questions. ‘_:“’ ,'_Q),"‘ o
(3) Make suitable assumptions {vhcrevcr neccssnry AT ~N ’_.3' n?
N 5 A a2 y N k)
-~ G
Q.l. a) Differentiate bclwccn Syslcm Software & ApplxcalnouSoﬂware \\ [051 ,._": /
b)  Whatis Left rccursmn? Chcck if the fol]owmg grnmmhr is left rccurswc, [05] o
and take nccessary action® 1f it exists: > ) ,:} o~ .“\ -‘:”
-—u ‘" ! §554155+ |a & o A s 2
2 N, -" ; iy 3
¢)  Discuss ihe forward feference problem in nsscmblcr with suitable -~ [05] o =~
example. P RV e oo T
d) Exp'lam different functions of ]onder in delzul O R [051 N
‘ - L ~ M
H ‘_‘_' :’ ,\’ AL:.-— \\:- I\ "r\“i
Q.2. a) _Explain ar)y five code optmuzauon if-compiler dcstgnmg with suitable [10) 7 .
"\ cxamplc >’ A o Reel - S By ~
N n," \k -’J rn/ \\' / -:l/‘
. ) _;E)‘ Explam with the hclp of flow chart the workmg of two pass assemblen [IO]." D
ap along with dambases used. f‘,'- N e K ) e
. 'Q';—:.' P \ _»\ \: ' K h ‘:_;\. c‘\‘:: _',_,\ -‘_‘",;\
Q3 a) -~ Expl;un Desnﬁn of Dlrect Lmkmg L6adcr A ' _'S" o) ov [10] ';\
=
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N e Vi Xl s " e ¢
Koy Q4. ,Qé) Gcncmtc 3-addrms code for the fo]lowmg G program and constructﬂow [10]
Ja¥ 5 Rhe graph with the-Belp of basm Blocks : (assurne 4 memory locatlons for
il O o mtcgcr) L a >y’ — \—~
v N ) \ ) J‘.;" min=af0]; ol
o a0y Eong 2y Jor (i=Lyi<n;i++) e
2 ah NI o) < iffafi}>max) Mo ke
o 15’ D o g ma=aij; e
o % e Slog=1; -
. = >’ A =
NG > b) ~ With rcfcrcncc to MACRO, cxplam thc followmg tables with suitable [10]
. 4 )\’ A ~y -,
. Py o example > A
Ky S 27 DMNTS i), MDT iii) ALA
- Q.5 _\-‘—T\a) Explam dcsugn issucs in codc generatlonm "detail. [10]
o7 > b) ,Explam Phascs ‘of compllcr with follow;ng example [10]
e A R a: —a + b- 5 *3/c ~F
“ o S ; A
=~ A o '"'“ el ;‘-; '
o~ Q6. LV Write short note on;- ALY [20]
s A a)  Three address code reprcscmahon
~F o~ £7b)  YACC N 3
" A ) Pammetenzcd Macros —-
5 5 d) Syntax dlrcgtcd tmnslatlon
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Instructions: '\3\ \.\M‘ : \:\T \ 5 “ ;\ . _:‘
1) Attempt any Four qucstion out'of six questions. Koo S’ = !
2) All question carries-&qual mark‘s\ A \\‘ #1 ‘ \3 o~ N
3) Illustrate your answers with* neat sketclu:s \vherever necessary G ~ o NS
4) Figures to the right indicaté full marks.- \° ' & & o
5) Assume suitable addmonal data, if necessary and clearly state it. RS Y >
6) All sub- questtons of the same queshon should be grouped together S 53
:'\ \} - & A\ < NG ":\: =
—-— _b. , .\\ \ - % .\‘\ oy b -
. Q.1 (a) What is Io'I‘? Compare with suﬁable criterion between Operat:onal 10 ‘? -~
"Technology (OT) and [nformatloh “Technology (IT). & o > Ly
(b)” With suttable examples explam the types. of Sensors used in IoT systems a0 =
7.\ ~ \ o ,‘\ . A ‘C\ ) \\\
Q. 2\(3) Explam the Smart Things: archttecturaltlasmﬁcanon conmdenng LayerJ\ 10 7
N Thmgs-Sensors and Actuafors Layer : «c‘ NG \‘:
" (b) -Give the Categones _of IoT appl:catton protocols and~ thelr tmnsport 10->7
_f" N methods ‘Describe the factors ~should be. con5|dered ‘when selectmg a _?
QR AN transport layer for an IoT application layer protocoL\ - T
.; ~ ; o o ~ K’ &5 D
' A ng (a) Dlscuss the appllcatlon of} IoT in Cmes X e 710
NG ~ (b) Compare with'suitable factors Mtcrosbft Azure loT and Google Cloud IoT 10
O N used as IoT Software platforms Y - -2
~ - ~ NG -
o s M o & o iy X
Q4 (Qh Give the ﬁ.mct:on.of each Iayer ofa seven- ]ayer IoT archltectural referencc 10
' ~ \* model published by IoTWF architectural committee. ey
o5 N (b) Explam the Enablmg IoT- Technologles "3 10
e \ - ~ N
. Q (a)__ Explznn Gateways and Backhaul Sublayer consxdenng Layer 2: 10
e o' Communications Network Layer in IoT. .0 K\
_‘r' . ,,(b) lee-the key components of.a SCADA"system Descnbe CoAP message 10
c Y
N & fi elds R £
N st N — 3 ) o
S Q.6 (a) Descnbe the appllcatlon of IoT in Env:ronment 10
U < 5 (b)> Compare ‘with suitable factors Partlcle Photon with ESP32 used for IoT 10
: > > application development o A8
X S5 L X S
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